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(2) 

)sin,(cos),sin,(cos 222111   OPOP とする。 ),( 333 yxOP  とすると、 123
2

3
OPOPOP  より 

 123123 sinsin
2

3
,coscos

2

3
  yx  

 1)cos(31
4

9
)sinsincos(cos31

4

9
121212

2
3

2
3  yx  

 
4

9
)cos(3 12   

4

3
)cos( 12    

),( 444 yxOP  とすると、 234
2

3
OPOPOP  より 

 122124122124 sin
2

3
sin

4

5
sinsin

2

3
sin

4

9
,cos

2

3
cos

4

5
coscos

2

3
cos

4

9
  yx  

 )cos(
4

15

16

61
)sinsincos(cos

4

15

4

9

16

25
121212

2
4

2
4   yx  

4

3
)cos( 12  であるから 1

16

4561

4

3

4

15

16

612
4

2
4 


 yx  

したがって、 4P は 122  yx 上にある。(証明終) 


